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1. EBEEBE P EEEA checksum £ 4 ERZFHBEEHORERS  FHEATRE L
89 # 5 #9 sum 2 & checksum & ? (4 %)
0110011001100000 01010101 01010101
2. {BEA — 4 40 terabytes 89 EAL B4t ok B R A e ey B P oS (B 27154 3 E 5 4370 N E)
EARHE — 1L 89 1Gbps sb4% (propagation speed 2.5 *10%m/s) W F# P o2 B - 3FRME A LEE
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7. #3098 &4 802.11 84 RTS/CTS zh#:+ L% i Hidden Terminal Problem (4 4+)
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9. 339 Ethernet 49 binary back-off ##] - (8 %)
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T A2 Bx ABEE s Bws R return True » R 2 8] False < (8 %)
,{% 2 - ﬁ;:é;%%ih%_h% : Z:%g'['/f} °

=~ HAHFEEHR -




